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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used. throughout the paper.
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Attempt any Five questions;
AlZ questions carry eqﬁal marké.
Use of simple calculator is allowed. -
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Write notes on the fdllowing :
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(i) Ratio and interval measurement.
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() Sources of Data
(if) ~ Importance of Statistical Methods.
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In the year 2011, the total workers of a factory were 2050. Out of the total, 1450

were trained in campus. The number of women employees was 300 of which 175
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did not get the training in the campus: Ip 2012, the number of employges- with
campus training | got increased to 1800 ‘of which 1680. ;verev men. On the other hand
number of non-campus trained employees fell to 390 bf which 250 wére men. In
2013, .there were 2400 employees ‘who got in campus training and 250 did not get
in campus training. Of all the employees in 2013, 400 were women of whom only
230 did not gét“in campus training. Mmgé the above information in tabular foﬁn.
T 2011 H, wa wHwiE m@rn 2,050 11 e 'ﬁ A 1450 FhE |
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# W@ e faem 3 250 F shew TE . fre w2013
F o EstfaTﬁ?hﬁ ¥ 400 ufeemd %ﬁﬁﬁ Fa8 230 F THR wfam
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The following are the number of items produced at a manufacturing unit during fthe last 50
days :
() | Arrange these observations in afrequency dis’m’buﬁon with inclu;ive-class intgl;vals.
(i) Calculate ‘_its qumﬁlative frequéncy.

(iii) Calculate on how many days 'r‘nore4than 25 items were produced.-

3

91124202125 22]23]31]20]26
1713622 (31[1933]19]19]22]32
27114 |18 |16 | 22|15 |21[20]13 |26
16124 |21(25|22(25/20|20)26 16|
14 |36 | 24127231818 [35[22] 19
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91] 2420 [21]25]2223]31[20[26
(1713622311933 |19 192232
2714 |18 |16 | 22|15 | 2120|1326
16124 | 21|25 |22 | 252020 |26]16
(1436 |24 |27 |23]1818|35|22|19
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3. Calculate the mean and median for the following series :

Class intervals . !' Frequency

o113 Bt
115—}20 2215’
120125 a0
125130 223
130—135 619
135—140 258
140—145 s
145—150 | | 646

150—155 232

P.T.O.
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T I AT
110—115 18
115—120 225
120—125 530
125—130 223
130—135 - 619
135—140 258
140—145 635

145—150 640

150—155 232
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(3rere)

The data given the following table is regarding a catering house. Calculate the coefficient of

variation and variance for the following data :

No. of meals per day No. of Days

0—5 3
s—10 61

10—15 52

15—20 81

20—25 26

25—30 . 34

30—35 | 65 |

‘35——40 , 34

P.T.O.
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o.—'s; | 33 |
510 | 61
10__'15' 52
1520 81
2025 26
2530 34
3035 65
3540 | 34

. Calculate Pearson’s coefficient of correlation for the data :
X - o Y
150 590

312 416



418

324

233"

210

45

36

212

. o 216 .
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150

312

418

324

233

210

45
36

212

- 216
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255

405

- 490

550

615

690

545

520

590
416
255
405

490

1550

615

690

545

HIfST

520
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Or
(31rem)

Calculate the rank correlation coefficient between the data given below :

Price of tea (Rs.)" | - Rainfall (cm)
231 | 12
238 222
512 52
125 141
442 71
532 46
41 , 53
311 S 82
215 | 95

422 . 61
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T e () )
.1231 . | 122
| 238 222

512 52
125 14
442 | o
532 | o 46
411 53
311 | 82
215 %5
422 - -6l

5.  The following table shows the monthly expenditures and monthly incomes in rupees for 10

persons :

0) Obtain the regression equation for expenditure on income

P.T.O.
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(i) Estimate the expenditure of a person whose monthly income is Rs. 60,000

Expenditure ' . Income

(000 Rs.) | (000 Rs.)
62 | s
93 53
51 - 50
36 79
62 53
53. 48
s 65
34 7
68 106

21 50
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(000 '6;) - (000 %f)
| & 58
-~ 93 | 5
51v 50
36 79 |
 62_ s
53 48
80 | ’65 |
34 | o
68 : | 106
21 - 50

P.T.O.



( 14 ) 653

Or
(o)

Calculate the mean center of the population distribution for the following districts. Plot it on

the graph :
Blocks X—coordinatg Y-coordinate | Population ('000)
A 06 12 |- 535
B - 26 2.0 563
C - B 32 | 256
D : 6.1 24 | 856
E 25 | 3 635
F ' 36 B! v 612
G : 4.5 | 3.5 458
H | 6.2 34 632
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W el & Shoen fwe & ue Gy Rl 9 W 8% @ % W
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Q[ue - x-Fdwriew 'Yiﬁéwﬁs Gfﬂi@H[cooo)
A s 12 | 535
B | "25 20 563
C | : 35 | 32 256
D 6.1 ' 2.4 | 856
E 2.5 S s
F o 3.6 - 5.1 612
G | | 4.5 | | 35 . - 458
H | 6.2 34 632

653 . , 15 ' . 1200
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